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I would think, the same is also by the hands of man

Overview

The 13 explains that the P05 of "2 271 95 teaches us not to make the mistake and
derive O7X *7°2 N1 21 from 2°MW 702 1071 *2 0 that they can redeem the death
penalty by paying. n1901n discusses how we could even have such a thought.

mooin asks:
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This is astonishing; for how did he expect to derive death by the hand of man,

from 2°%w 9792 N%»; that we should require a od to teach us that we cannot derive one
from the other; it is seemingly obvious and we do not need a 105!

MDDIN answers:
- DY NNNY NY NN YPIPNT 113 207991 XPM)
[And the 2'"=7% answered since 992 nns» is equated with 2%®p2 nno», therefore -
[V 2 YW 0YYYa NNMNIY 20N 272 DYDY NN NI YIP)
We should also equate 27X >7°2 2°»w2 nn"» (where he is to be executed by 7"2) to
2v%»2 nn» on account of his ox killing a person (which is onw >7°2)

Summary
We should equate the two mn°» written by 9017 MW (27X *7°2 and 21w *7°2).

Thinking it over
How is 07X >7°2 7n°n more stringent* than 2»w 72 7n7n?

078 >1°2 7n°n is more stringent than o»w *7°2 ANk, so why would we think we can derive 7R >7°2 from onw >7727!
See ‘Thinking it over’.

2 There were a number of the moon;7 *»ya with the name 7wn; this could be one of them. There are also some called
RN,

3 See the previous 5% "7 Moo that ppY 1P7va oM is referring to QTR *7°2 An°» and the NWWoa oo is also referring to
AW T2 N1, SO just as we compare MR NNM to (27X °"Y) @°%va nnn that we require twenty-three, similar we
should equate the two implied minn (which are o *"v and 0w °"V) to each other; just as D»w *72 can be
redeemed, so too 07X >7°2 should also be redeemed.

4 See footnote # 1.
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